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ﬁ
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[f#dr] . f(x) =sin(wx +¢@) +L,.‘.f'(x) =wcos(wx +¢),.. f(0) - f'(0) =(sin ¢+%)wcos 0=0," —%<¢
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Lo D i sk AC.
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[T ) B2 E /T P9 U0 Bk B 2 42 A v, v P9 U0 B8k B 4 S5 AT SR T N TR AA B AR AR V = 8><?><—><2><2><

sin 60° « r =2 x?x2 X2 x /25 = (J2)? ﬁz,iﬁr:? e I ER R ALY 4 x (Vf) ?“ A T
PEIZIE N HARSMESR 192420 R, 5541 EF ] iE N RARSMERRBY B A2, 2R =22, ff158 R =2, it LLIE i 4
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) =—1(1-= - e [ —— = =—(1- (R 0
LJ‘ Tn 3[( 42_3)+(42_3 43_3)+ +(4n_3 4n+l_3)] 3( 4n+|_3)<39BJ—-EEﬁ9XT:J:C5an
1 1 1 1 1 1 1 1
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[fdr]A, B, C =Lrlm = — 1, “ABC™ “ BCA” 5" CAB” J2:[v]—HF51 , Horp 4 — AN ARSI ] LIR AL B — 12
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(b ] =MIE RN DI e = MBI b OO TE—Z i R b WX S R S i = B — 5P o0
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~24d” <0,k & =2 <0,554 e>1 W51 <e <2, AUk ~A B 1E » W T 7, 5 A 16 « iy o7, % [AF, | =
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AL E N5 |AF, |” = |AF, | + | F\F,|* =2 |AF, | - |F|F,| « cos LAF,F, B}l 164’ =4a” +4¢° +2 x2a + 2¢ -

%Fﬁu ¢ +2ac -3a> =0, ffL) e +2e -3 =0, fiftfd e = ‘ﬂ; “ﬂ,%fﬂg M_[:M:
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% V14<0’(—x/§; v14) :2"'1{%‘”/77:4_ﬁ>1’}5ﬁu 1 <% m<ﬁ’:ﬁ/@@%§;®§

B, | = |AF, [0, 1% T ATF x SRS B . 551, C 0y~ 2514,

Seos A acos C _ccos A
%:(1>EE 3 - 21) - 2b )

5 2bcos A — /3 acos C =3 ccos A.

HH 1F 8% 52 P45 2sin Beos A = /3 sin Acos C ++/3sin Ccos A =/3sin(A +C) =/3sin B, (3 4})

“*0<B<m,..sin B5#0,.". cos A =é£,(5 )

c0<A<m,. . A :% (6 4%)

2 2 2
(2) M4, 8 cos =210 =0 _ 1
2ac 2

10<B<ﬂ,.-.3:% (74%)

czw—A—Bzg,:. b=Va,(8 %)

-+ BD =2AD, .. E)’:%@h%&?’,@ 4
C—D>2 :%5{2 +é§2 :%b2 +%a2 :19—3(12 :13,

sa=3,6=3/3,(11%4)

1

=5 %3 x3f=¥. (13 4%)

o AABC WTRIFR S = %ab

[ 1E42mm) )
. A AR RS 0 <A < 7,0 < B < A48
2. 55.(2) [nl L AT ASAA 1 i) 1, T2 A FH A 5% 5 BEOR A, ML P TI55 24 4
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(2) BeeffF A TP A N5 20K F iz 8, 08 B Fonm il b B9 AR IR 1E 50 J&1 % LAE.
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1 3 3
0 A SRANH M — = =
ﬁﬂfmﬁ’ﬂ%%ﬁtﬂjﬂm, 510
1 3 3

= — — —_— = VAN
e EX 10><1O+30><5 +40><10 31. (9 41)

XTI A4S S IRARN T R G Y o, WY B B4 Al REHUE Y 10,20,30,40,60.

1 1 1 1 1 1 1
! = =— X—=—: = =— X— X—=—":
AT P(Y=10) = x = 5 P(Y=20) = X 3 x o =10
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1 2 2 2
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2

F)ﬂ),{EY:lel—+20x1— 9

6 18
K EX < EY, JIr LA BT 0 £ B 20 A bIE o /N B R BRI 26— (15 43)
[iF52am ]
L35 (2) [l AT Yoty OB R 30 A 2 OR i , 5 8 R TC IR AT
2. 55 (3) AR A AR I BESR R S il 3 70 B B O 45
(1)IEMA - E,F 43503 AB,BC Wy ki, . EF J/AC,
#4% BH 52 EF T 0,1%4: B'0,
HIFS A H,EF L OB’ ,EF L OH,0HNOB' =0,.. EF 1 Y¥-1ij OB'H

+30 x%+40x +60 x%:SS,(M )

- AC 1 -1if OB'H -~ HB' C V-1 OB'H, .. AC L HB'. (5 4})

(2)fiff - %0 AABC Wsh Kl 4, HB =23, OB’ =0H =3,

3+3-9 _ _1
2 x/3 x/3 27

LA O Ny Aebslsind ,OF ,0B Bt BEN «,y B, 1 O VRS B TP 1 ABC #Y L2
oz B ST AN B s 1 AS [) ELAR ARAR R

" HB'=3,.. cos £ B'OH = - L B'OH =120°,(7 43)

) B'(o,f,;),fl(o, ~/3,0),E( ~1,0,0),F(1,0,0),

\/§

. R 3\ op = _
. OB —(0,7,?),0H_(0, J3,0),(874%)

> — —
WOM =) OB’ + (1 -)X)0OH

3 B3 ~ ~
—/\(0,7,?)+(1 1) (0, =/3,0)

_ (0,353] —ﬁ,%A)(0<A$1) (10 43)

161 B'EF 1 [EF = (2,0,0) ,0B' = (Ofg)
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m- 0B =3

y+iz:O,
I 2 2 Ay= -3 ,18x=0,z2=1,

N
m - EF =2x =0,

FFLASFTR B'EF 1)— M Em R R m = (0, -J3,1), (12 4})

.:uMﬁ%ﬁBEF%ﬁ%ﬁ(W-m_%+3 %(Bﬁﬁ
sy L _3 . B'M

e A = j& 2(%2) .M S HB'HH 5. T

T R SRR =1. (1547)
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|MF| + [MN|=2/6 - (|[MF'| - |MN|)=2/6 - [F'N| =26 -3 -2,
BHALKE S M5 C A4 TS T A S S

B[ MF [ + | MN | ff5/ME R 246 -3 =2. (5 4%)
(2) A<x1’yl> B(xz’yz) Ij"JEHAN 2NB
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UL L RERAFER B LT N y =k(x -2)
Wy =k(x —2)1Jc/\x6—2+y3—2=1,’§(2k2 +1)2’ =8k’x +8k* -6 =0,
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P =g Sy
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Y1Y2 =k(x, =2) + k(x, -2) =k2[x,x2 =2(x, +x,) +4] =k2(

8k2—6_ 8mk’ +2m2k2+m2_ 28 2K (m’ -4m+3) +m’ -6
2 +1 2B +1 2K +1 2K +1 2K +1
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3.5 (3) M HARFE B HEHL | BFIRPRAIAAEX —FEIE 410 1 75
4.5 (3) I WAl B ELR LT « = my + 1, B 45 73
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